MathLinks 9 Practice and Homework Book
Chapter 6 Answers

6 Get Ready 6.1 Representing Patterns
1. a} Time, 1 (h) Distance. 4 (km) 1. a) pattern, four rails, posts
b Example:
1] 5
; E Mumber of Nu::}rer
1 e
i Rails., r
" Time, £ (s) Speed, s (km/h) 1 0
3 &l 3 4
6 50 - -
7 40 - °
] 4 12
2. a) Yes. Example: It makes sense because there can

¢) Example: To get r, multiply p by 4 and
subtract 4.
2. a)equation b) Example: d4p-4=r
¢} Example: Substitute values of p from

be times and temperatures between the ones
labelled on the graph.

Ik Moo Example: It does not make sense because
vou can szl only whole hamburgers, not

fractions of a hamburger.
3. &) This is a linear relation because the difference

the tahle.

3. a)

Figure Perimeter,
between the consecutive values in each row is Number, f P
the same (15 m in the first row and 2.1 m/s in ) g
the second row).
I} This is not a linear relation because the 2 14
difference between consecutive values of & 3 il
is not consistent even though the difference 4 %

between consecutive values of ¢ 1s consistent.
4. (60, 10.5)

b} &+ 2 = p: = figure number, p = perimeter

- . c)
5. Examples: Figure Perimeter,
al P y Y4 Number, [ P
15
) 5 5 32
10 -
2 b3 /,r’/, b 38
sl | -
3|1 : H
L T 113 = 8 50
r
9 56
It} ¥ ] a2
n I
1 1 T RN
&
2 —5
T
=
y

Copyright © McGraw-Hill Ryerson, 2009




(ML9 Practice and Homework Book, Chapter 6 Answers continued)

4. a) Example: Multiply the figure mumber by 3 h N .

i i i umber of Cost per Shirt
and add 1 to get the number of toothpicks Players Buying -OSL per
needed.

F 196,75
by e =3+ 1. 1 3 196,
-
Figure Number of 2 $ 105.8:
MNumber, | Toothpicks. 3 7555
1 4 4 5 &40
2 7 5 $ 5131
3 10 3 § 4525
4 13 7 $ 4092
3 la B $ 37.68
6 19 9 $ 3515
7 22 10 o313
¢} Mo 11 $ 3148
S-S y 12 § 30.10
1 —4.5 13 2883
2 —7 14 3 2794
3 —0s 15 § 2707
4 —12 .
6.2 Interpreting Graphs
5 —14.5
& —17 1. a} interpolation
- 19.5 b} extrapolation
: - chinterpolation, between
b Example: y=-2.5x-2 c)—169.5 d} extrapolation, bevond
6. a) Example: C= 5l l».gqn + 'Htjjﬁ'm 2. It is reasonable to interpolate, but only for
by 327.07 ) ) whole numbers, since vou cannot sell part of

a seat. You cannot extrapolate, because the
number of seats is finite.

ol

Example: 21.5 kg; extrapolation

4. a) Yes. Example: It is possible to refill the tank,
allowing more time to expire. b) 251

n

a) Mo, Example: The graph shows the upper and
lower limits of the spring. by 40kg ¢} 24 cm
6. a) Example: Approximately 36 vears

b} Example: Approximately 94 cm; interpolation
7. Example;
aj ¥

105
il
E" 7
o L

=]
45

0] 412 D4Ea) | X
Walght ko)

b} 40 kg: 85mg: 100 kg: 190 mg
¢} 50 mg: 8 kg 120 mg: 74 kg
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(ML9 Practice and Homework Book, Chapter 6 Answers continued)

6.3 Graphing Linear Equations b) | Bk Titmel ard Distarlce Graph

for Aléx and Zoe

. =&
1. equation El:
. . . L
1. coordinate, linear relation E 4
. L 1
3. interpolate, extrapolate (in either order) &l .
4. a) Example: H— =
i 2100 | G20 | 240 | 1000 | 1070 | 1040 | ¢
¥ x ¥ Time (min)
4
2 -3 | -5

chlls am. dy0.5 km

: -3 | -3
[ .
I 3 | o 6 Chapter Link
-1 1 I. Examples:
_a a) Air
. Distance
Time, 1 1(s) '
by Example: o {m)
1 340
m k
2 R
1 3.5
3 1020
2 1.5
4 1360
3 —0.5
J 5 1700
(= — 2 + 551 4 -2
6 2040
5 —4.5
7 2380
Soa)p=-2x+ 025 b)y=-03x 8 2720
G.oa) p=05x+ 1.5 g 060
b} Example: A line passes through points A to N 10 4400
y=2x-1
¢) Example: A line passes through points A, B, I} Water
C,DE and Frp=1 -
00 Time. 1 (s) Distance,
7. a) Example: ! = lﬂl’.‘ID—E B o (m)
b} Example: Approximately 450 min or 7.5 h; 1 1450
interpolation
- 2 2900
¢} Agree. Example: It takes about 7.5 h to pump
out 750 L. 3 4350
8. a) Example: 4 SE00
Alex | Time | Distance | Zoe | Time | Distance 5 7250
{min} (k) {min} {km} 00
920 | 1 9.45 | 1.25 o o
9:40 2 10:00 | 2.50 7 10150
1000 3 10:15 .75 2 11&00
10220 4 10230 5.00 9 13050
10240 5 10:45 6.25
10 14500
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(ML9 Practice and Homework Book, Chapter 6 Answers continued)

¢) Steel 4. %; the length and width of Picture 2 are half of
Time, £ (s) Distance, the length and ﬁdtlﬁ of Picture 1. _
of {1} 5. a1} There are 4 lines of svmmetry: vertical,
1 S050 horizontal, and two oblique or diagonal lines,
2 10100
3 15150
4 20200 ."r
] 25250
& 30300 =
7 35350 -
8 40400 f
9 43450
10 S0500
2 a)d = 3400 b)d = 14501 ¢) d = 5050¢ b} 90°; 1 of a rotation
I a) approxmately 4.26 5 b) approximately 14.85s 6. a) Estimate: 2.5; Actual: 2.59
4. Examples:

) b} Estimate: 9; Actual: 8.75
a) approximately 0.23 s )

b) approsimately 3.48 s ¢} Estimate: 12; Actual: 126
T.oa)l3 bp0216

6 Vocabulary Link 8. Error in step 1 {—2% = 4, not —4).

Correct answer: 154

1. i) variable
1. e) extrapolate 9, 137.33 em?®
3. b) commission W a) 5¢° — 9a— T b) 6y — Tay?
4. g) linear equation 11.4.6 cm
5. d) contimuous 2. ; =
) iy 120 Distance | Cost
6. a) coetlicient
e _ km) | (%)
7. h) linear relation 0 :
i. ) constant -
9 ﬂ.' | 100 35
. ) interpolate
Lo 200 40
MXSCCVULAIAODCONST ANT) 300 45
ElC AVDZIETONY FYNNIDOQEFVW 400 5]
XSW-BEOQIL TNEARRELAT T T HN) Z
TIKMSEM B XE I VCYVHUCCIFLU 500 55
RIL Fl IOQCKHFEOPC]YRR
AlM COHNTT NI Sz b} ¥}
PIBE 1 O NX RMNWDOI|E|G A A 10
OlH N M F 5%8 EEFBERESI|F|BEKEEK
LICWMOK BMNOPDIF|Z AD
alpacifvzT P Y JXPI|FOH -
T|D Z[5\WM GNP NHW|C|VYP i %
EIZ AISINOPTH OTFI|VAYV S _‘__u--""
FMGI|TRMFDVE pTIE[c I m T
QK ZofoUuL)SHG U [N A G K =7
U CHMEBEEYGLVY i & JIVDVw 23
INMROPFMGGREHUOG VUL
YEEAQTDEMAEK I DE XJ1EM .
) 0 | 00 | w0 | 300 | 400 | S0 | Goos
FDSLHDMYMY J FGLTWEF XHNH Distance ki
Chapters 1-6 Review ¢)$42.50 d)450 km
1. Example: a) 33 4+ 2x €) Example: C = 0,054 + 30, where C represents

- . cost in dollars and & represents distance in km.
bh 37 + Tx—2 ) 2y, 3x drep

Lajy= —'% b} y= 2x+3

3. Example: a) 1.75 by —0.8
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